
g= kf= j8f g+= 6f]n

1 cfw'lgs s[lif ;xsf/L ;+:yf=ln efg' >]i7  /f= g= kf= 1 uf]]7ufpF 6 6 13 808 11 81 14 0 78 92

2 ljh j[l4 tyf t/sf/L pTkfbg s[ifs ;d"x  /d]z s'df/ s7fot  /f= g= kf= 1 uf]]7ufpF 113 19 75 197 4 5 0 9 9

3 ;okqL kmnkm'n tyf t/sf/L s[lif ;d'x Vofd axfb'/ tfdfª  /f= g= kf= 4 lx]du+uf 113 19 75 197 4 24 27 1 0 28

4 cfOtaf/] h'gf/ s[lif ;xsf/L ;+:yf ln= k~rdfof tfdfª  /f= g= kf= 5  /fdk'/ 79 42 1914 13 32 40 5 0 45

5 s[ifs hfu/0f s[lif ;xsf/L lnld6]8 sf}zNof tfdfª  /f= g= kf= 6 cf]v]{gL 298 81 61 1145 11 9 20 0 0 20

6 >L ;Demgf s[ifs ;d'x n5'dfg tfdfª  /f= g= kf= 6 ljzf}nL 289 88 220 1156 5 25 30 0 0 30

7 >L sfdgf kmnk'mn ax'p2]ZoLo g;{/L kmd{ z]/ axfb'/ tfdfª  /f= g= kf= 6 cf]v]{gL 11 8 3 110 0 1 1 0 0 1

8 k|utLlzn s[lif pTkfbg tyf kz'kfng kmd{ lgd/fh tfdfª  /f= g= kf= 6 60 40 20 80 0 1 1 0 0 1

9 k|utLlzn afv|f tyf s[lif pTkfbg s[ifs ;d'x k|]d axfb'/ tfdfª  /f= g= kf= 6 cf]v]{gL 181 95 75 1964 5 6 11 0 0 11

10  /l;nf] h'gf/ s[lif ;xsf/L ;+:yf nL= z]/ axfb'/ tfdfª  /f= g= kf= 6 cf]v]{gL 1610 518 810 10618 17 100 97 10 10 117

11 >L g]kfn Pu|f] s;g{ pBf]u kmd{ kbd a= nfdf /f= g= k= 6 cf]v]{gL 165 80 85 600 2 1 3 0 0 3

12 kfvf 6f]n h'gf/ s[ifL ;xsf/L lndL6]8 nId0f tfdfË /f= g= k= 6 kfvf6f]n 544 229 353 5880 11 25 33 1 2 36

13 h'gf/ s[ifL ;xsf/L ;:yf lndL6]8 o'u/fh kfv|Lg /f= g= k= 6 efn'vf]k 527 208 320 4280 5 31 33 0 3 36

14 b]lj:yfg t/sf/L v]lt s[ifs ;d'x dfg axfb'/ df]Qmfg  /f= g= kf= 7 b]lj:yfg 143 31 73 879 6 11 10 0 7 17

15 h'gf/ ljsf; ;+3 9fn axfb'/ sfsL{  /f= g= kf= 7 efn'vf]k 149 34 88 913 2 16 10 0 8 18

16 k|ultlzn csa/] v';f{gL crf/ pBf]u r'8f axfb'/ sfsL{  /f= g= kf= 7 lxn]kfgL 93 11 70 275 0 1 0 0 1 1

17 dxfsfnL s[lif ;xsf/L ;+:yf =lndL6]8 lg/ axfb'/ tfdfª  /f= g= kf= 7 500 178 332 1005 6 32 17 0 21 38

18 u|fld0f ljhg]z k|df]zg k|f= nL= u'Gh axfb'/ sfsL{ /f= g= k= 7 efn'vf]k 411 31 369 318 8 10 1 0 17 18

19 h'gf/ Joj;flos pTkfbs s[ifs ;d'x o'j/fh sfsL{ /f= g= k= 7 lxn]kfgL 260 37 241 268 11 3 0 0 14 14

20 h'gf/ Pu|f]km/]i6 k|f];]l;Ë k|f= ln= 1fg axfb'/ sfsL{ /f= g= k= 7 lxn]kfgL 367 53 287 344 2 17 12 0 7 19

21 ;'sfhf]]/ o'jf ljsf; ;dfh  /fd s'df/ sfsL{  /f=g=kf 7 lxn]kfgL 381 31 275 210 3 12 8 0 7 15

22 ;fn' Pu|LsNr/ s]Gb| sf]dn j:g]t d= g= kf= 4 Rofps] 7Ff6L 54 17 17 205 1 6 0 0 7 7

23  >L gd'gf h'gf/ pTkfbs s[lif ;xsf/L led axfb'/ >]i7 d=g=kf 4 u}/fyf]s 1456 408 795 3385 20 57 30 4 43 77

24 ldnLh'nL azGtL kmnkm'n s[lif ;d'x uf]ljGb l/vfd /f=g=kf= 4 lxdu+uf 431 85 382 998 14 27 41 0 0 41

25 nf]lx8f]/L s[lif g;{/L kz'kfng kmd{ k'is/ axfb'/ sfsL{ /f=g=kf= 6 cf]v]{gL 30 10 2 130 0 1 0 0 1 1

26 bunL s[lif kmd{ k|]d axfb'/ tfdfª /f=g=kf= 6 cf]v]{gL 16 10 8 160 0 1 1 0 0 1

27 l;h{gf s[lif kmd{ k|]d s'df/L tfdfª /f=g=kf= 6 cf]v]{gL 33 30 3 475 1 0 1 0 0 1

28 df};dL s[lif kmd{ 8NnL tfdfª /f=g=kf= 6 cf]v]{gL 20 9 11 180 1 0 1 0 0 1

29 kfn]jg kz' tyf kmnkm'n s[ifs ;d'x l;tf >]i7 /f=g=kf= 7 kfn]jg 731 141 572 2146 26 15 20 0 21 41

30 >L b]lj:yfg Pstf s[ifs ;d'x ;Gtf]if zflx /f=g=kf= 8 e+u]/L 202 73 148 885 10 17 27 0 0 27

31 Gofgf] s[lif ;xsf/L ;+:yf nL= lnnfgfy l3ld/] /f=g=kf= 8 afaLofv{s 469 177 318 2184 3 43 18 2 26 46
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32 sflQs] tfhf t/sf/L pTkfbg s[ifs ;d'x s'df/ du/ /f=g=kf= 8 sflQs] 155 25 119 287 5 10 15 0 0 15

33 >L k|utLlzn h'gf/ s[ifs ;d'x s[i0f eQm >]i7  /f=g=kf= 8 e+u]/L 227 93 134 1022 7 38 45 0 0 45

34 >L ;]tLb]jL gd'gf t/sf/L pTkfbs s[ifs ;d'x s0f{ axfb'/ vqL d=g=kf= 4 lgj'jfaf]6] 319 180 154 2657 4 23 2 0 25 27

35 >L ;Dj[l4 s[lif kmd{  /df s'df/L yfkf d=g=kf= 6 en'jfhf]/ 0 9 0 126 1 0 0 0 1 1

36 hg;]jf s[ifs ;d'x k|lj0f ;'g'jf/ /f=g=kf 4 lxdu+fu 125 24 101 278 2 16 9 8 1 18

37  /]zd tyf skmLv]lt s[ifs ;d'x ho axfb'/ a:g]t  /f=g=kf 6 x'lbn 106 49 56 535 9 27 4 6 26 36

38 xl/ofnL s[lif jg s[ifs ;d'x n]v axfb'/ du/  /f=g=kf 7 df]ufg 181 52 129 632 9 15 20 1 3 24

39 >L u}FofZj/L kz' tyf s[lif s[ifs ;d'x pd]z ljqmd yfkf  /f=g=kf 7 yfkf6f]n 403 210 293 3102 7 17 6 3 15 24

40 l;Dn] s[ifs ;d'x d;nLdfof du/  /f=g=kf 7 l;Dn] 359 71 288 989 12 14 26 0 0 26

41 :jfledfgL s[lif pTkfbg tyf kz'kfng s[ifs ;d'x  /d]z s''df/ s7fot  /f=g=kf 1 uf]7ufFpm 0 74 0 949 1 25 4 0 22 26

42 rf/3/] s[lif tyf kz'kfng s[ifs ;d'x d'gf s'df/L >]i7  /f=g=kf 5 rf/3/] 137 68 69 973 7 8 15 0 0 15

43 ;u/dfyf kz'kfng tyf s[ifL ;xsf/L ;++:yf nL= led axfb'/ tfdfª  /f=g=kf 5  /fdk'/ 129 77 46 1089 14 18 32 0 0 32

44 lzj kfj{tL s[lif tyf kz' s[ifs ;d'x ;l/tf sfsL{  /f=g=kf 7 lxn]kfgL 359 57 338 834 12 12 3 1 20 24

45 hg k|of; s[ifs ;d'x Ogb| axfb'/ bnfdL{  /f=g=kf 4 lxdu+fu 94 23 71 220 9 9 18 0 0 18

46 hgzQmL s[ifs ;d'''x x]d axfb'/ yfkf du/  /f=g=kf 4 lxdu+fu 100 12 88 77 8 8 16 0 0 16

47 l;dfGts[t xfo" s[lif tyf kz'kfng s[ifs ;d'''x /fd axfb'/ xfo"  /f=g=kf 8 jflb 401 99 302 1367 10 20 30 30

48  >L lgd{n ;fgf ls;fg s[lif ;xsf/L ;F+:yf nL  lvns/fh sfsL{  /f=g=kf 2 b]p/fnL 326 35 290 536 19 29 17 3 28 48

49 >L z'eb|fb]jL s[lif kz'kfng kmd{ b]jsL >]i7  /f=g=kf 2 b]p/fnL 20 2 18 35 1 1 0 0 1

50 c?0f s[[lif tyf kz'kfng kmd{ lvns/fh sfsL{  /f=g=kf 2 b]p/fnL 25 5 20 70 1 0 0 1 1

51 k|of; s[ifs ;d'x p4j l3l;Ë  /f=g=kf 7 efn'vf]k 119 38 81 570 3 18 21 0 0 21

52 3'dfpg] 8fF8f kmnkm'n s[ifs ;d'x  /fdrGb« sfsL{  /f=g=kf 7 efn'vf]k 355 34 308 53 3 11 0 2 12 14

53 afË]lkkn kmnkm'n s[ifs ;d'x  lg/ axfb'/ tfdfË  /f=g=kf 7 efn'vf]k 44 51 23 846 3 10 11 2 0 13

54 hg;xof]uL s[lif kz'k+IfL ls;fg ;d'x 9fn ljqmd sfsL{  /f=g=kf 7 lxn]kfgL 196 47 123 868 6 19 0 1 24 25

55 vgfn t/sf/L kmnkm'n tyf gz{/L kmd{ lbks s'df/ vqL d=g=kf= 4 ;fn' 30 10 20 1340 0 1 0 0 1 1

56 >L Pstf s[lif pTkfbg tyf kz'kfng s[ifs ;d'x of]u axfb'/ a:g]t  /f=g=kf 7 lxn]kfgL 372 103 269 1552 10 25 6 0 29 35

57 dg';'g s[lif ;fd'bflos ;+:yf nL lr/~hLjL a:g]t  /f=g=kf 7 d'9fhf]/ 495 40 455 487 11 19 0 0 30 30

58 >L x\ofª\nf s[lif ;xsf/\\L ;+:yf nL= t'n axfb'/ tfdfË d=g=kf= 14 km'nf;L 872 256 626 13480 1 28 29 0 0 29

59 gj cleofg ;fgf s[lif ;xsf/L ;+:yf nL= lji0f' k|;fb sfkm\n] d=g=kf= 13 km'nf;L 260 138 112 2335 22 0 5 0 17 22

60 kh' s[lif ;xsf/L ;+:yf nL= df3j/fh lu/L d=g=kf= 9 k'/fgfufFpm 660 135 524 2245 22 30 4 0 48 52

61 km\ofkm'Nnf g;{/L tyf kmnkm'n kmd{ nfndfg nfdf d=g=kf= 9 k'/fgfufFpm 0 7 9 300 0 1 1 0 0 1

62 dGh' >L kmnkm'n aufg /fdnfn tfdfË d=g=kf= 14 km'nf;L 35 18 10 1000 0 1 1 0 0 1

hDdf 16567 4878 11219 84763 420 1063 848 50 585 1483


